47 VIDYAKUL
CHARGED OBJECT

Positively charged Object: Due to deficiency of electron as
compared to proton.
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Negatively charged Object: Due to excess of electron as
compared to proton.
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47 VIDYAKUL
EFFECT OF CHARGING ON MASS OF OBJECT
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4¢ VIDYAKUL
Uunit = C/Kg/

DEFINITION- The ratio of charge of a particle to the mass of particle is
called specific charge.
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47 VIDYAKUL
UNITS OF CHARGE
ZTAJT ST HAD
Definition of one Coulomb- When one ampere of current passes
through a conductor for one second then the total amount of

charge Passed is called one Coulomb.
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